PGT Home Science

Q 1). Which Indian state is planning to launch a massive jungle safari project in the Aravalli
Hills, aimed at promoting eco-tourism and sustainable development?

(A) Rajasthan

(B) Gujarat

(C) Madhya Pradesh

(D) Haryana

Correct Answer: (D)

Q 2). Prime Minister Modi had accorded a ceremonial welcome during his recent visit to
Croatia at

(A) St. Mark’s Church

(B) Croatian Parliament

(C) Banski Dvori Palace

(D) Zagreb City Hall

Correct Answer: (C)

Q 3). Which of the following countries were recently elected to serve as a non-permanent
member of the UN Security Council for a two-year term starting in January 20267

1. Bahrain, Colombia, Latvia

2. Indonesia, Sri Lanka, Vietnam

3. Liberia, The Democratic Republic of Congo

(A)1,2&3

B)1&3

(C) Only 2

D)1&2

Correct Answer: (B)

Q 4). “How many characters are there in the story?” This question is of level as per
the revised Bloom’s Taxonomy.

(A)remembering

(B) evaluation

(C) understanding

(D) application

Correct Answer: (A)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior.

(B) Praising a child for completing homework.

(C) Removing TV privileges for poor grades.

(D) Ignoring a child's tantrum.

Correct Answer: (B)
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Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)

Q 7). Milk contain all the Nutrients except which of the following?

(A) Vitamin C and Calcium

(B) Riboflavin and Iron

(C) Retinol and Vitamin C

(D) Vitamin C, Iron and Fiber

Correct Answer: (D)

Q 8). Life Skills address a balance of three areas: Knowledge, and Skills.

(A) Aptitude

(B) Confidence

(C) Attitude

(D) Abilities

Correct Answer: (C)

Q 9). What according to you, is not the reason for the occurrence of illness and disease?

(A) Inadequate nutrients consumption

(B) Inadequate food

(C) Adulterated food

(D) Good immunity

Correct Answer: (D)

Q 10). What does BIS stand for?

(A) Bureau of Indian Standards

(B) Bureau of International Standards

(C) Beneficiaries of Indian Societies

(D) Beneficiaries of International Societies

Correct Answer: (A)

Q 11). Fiber yarns and fabric are called

(A) Manufacturing Products

(B) Finished Products

(C) Textile products

(D) Resources

Correct Answer: (C)
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Q 12). Ramleela and Nautanki are indigenous channels of communication belonging to

(A) Uttar Pradesh

(B) Bihar

(C) Madhya Pradesh

(D) Delhi

Correct Answer: (A)

Q 13). An adolescent who faces identity crisis and poor self-esteem is often caused by which
of the following?

(A) Rapid biological changes and changing social demand

(B) Developmental disorder

(C) Social situations

(D) Underachievement

Correct Answer: (A)

Q 14). In 1810, the canning process was developed by

(A) Abraham Lincoln

(B) William Shakespeare

(C) Nicolas Appert

(D) Newton

Correct Answer: (C)

Q 15). Match the following List-I with List-II.

List-I List-11
A. Food Safety 1. [llness caused by physical material
B. Toxicity i1. Ability to produce harm
C. Physical hazard iil. Acceptability of food for human consumption
D. Chemical Hazards | iv. Toxic metals

(A) A-i, B-ii, C-iii, D-iv

(B) A-iv, B-iii, C-ii, D-i

(C) A-iii, B-ii, C-i, D-iv

(D) A-ii, B-iii, C-i, D-iv

Correct Answer: (C)

Q 16). Goods and Services which family enjoys over a given period of time is called
(A) Money Income

(B) Real Income

(C) Psychic Income

(D) Productive Income

Correct Answer: (B)
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Q 17). Connectedness’ suggests which of the following?

(A) Greater opportunity and the ability to have one’s own point of view

(B) Greater opportunity and the ability to have other’s point of view

(C) Greater sensitivity to and respect for other’s view

(D) Greater sensitivity to and response for own’s view

Correct Answer: (C)

Q 18). In the last few decades, we have seen India transforming from underdeveloped country
to a developing country. What reasons can you relate to it?

(A) Recession

(B) Industrialization & Unemployment

(C) Globalisation & Environmental Pollution

(D) Industrialisation & Globalisation

Correct Answer: (D)

Q 19). Fermentation of Carbohydrates by yeast and other microorganisms can yield which of
the following?

(A) Carbon Dioxide, Alcohol, Organic Acid

(B) Carbon Dioxide, Alcohol, Ammonia

(C) Alcohol, Sulphur, Organic Acid

(D) Carbon Dioxide, Organic Acid, Sulphur, Ammonia

Correct Answer: (A)

Q 20). In the question below, there are two statements marked as Assertion (A) and Reason
(R). Read the both statements carefully and choose the correct option.

Assertion (A): It is possible to dye textiles containing fibres having different dye affinity,
with one solid colour using a single dyebath.

Reason (R): Dyes having affinity for different fibre types can be used to produce one solid
colour.

(A) (A) 1s correct, but (R) 1s wrong

(B) (A) is wrong, but (R) is correct

(C) Both (A) and (R) are correct

(D) Both (A) and (R) are correct

Correct Answer: (C)
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